
THEORY OF EQUATIONS

Given thatIti isa rootof

x" - 2x3 + 4x - 4 =0 solve the ef

so?Given elis

u"
- 2n3 +4x - 4 =0 - 0

Also iti isroot of



In an ex with real coeft, imaginary
rooksoccurs in conjugati Paiss

=>I - i isalew rootof

=> (x - 21+i)),(x - 11 - i)) are factors.

(x - (1 +i))(x- (1 - i)

=((x - 1) - i](( - 1) +i]



=(x - 1)- i2

= n+1 - 2x +1

=1 +1 - 2n -

Now I divide2x - 2

12 - 20 +c)qusinnes
+ 4x =4

+



i. Otherroots of ex are given by
x2 - 2 =0

x =152

Roots ofes. 0 are

1 1,1 - i,IT2


